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CHAPTER 20

PROBLEMS

20–38.

1.
Accumulated Depreciation—Equipment

100,000

Cumulative Effect of Change in Accounting Principle


100,000

COMPUTATIONS:

Sum-of-the-years’ digits
Straight-line
2002 (5/15 ( $500,000) =
$166,667
$100,000

2003 (4/15 ( $500,000) =

133,333

100,000

2004 (3/15 ( $500,000) =

100,000

100,000

$400,000
$300,000


Cumulative effect of change in accounting principle:

$400,000 – $300,000 = $100,000

2.
Comparative data:




2005


2004

Income from continuing operations

$
892,679*
$
856,000

Cumulative effect on prior years of changing from 


accelerated to straight-line depreciation on 


equipment


100,000


Net income

$
992,679
$
856,000

Earnings per share of common stock:

Income before cumulative effect of change in 


accounting principle


$4.46

$4.28

Cumulative effect of change in depreciation method


0.50



Net income

$4.96

$4.28

*Depreciation expense per books, 2005 ($900,000/40)


$22,500


Depreciation per adjustment [($900,000 – $67,500)/42]



19,821

Increase in net income from change in estimate


$
2,679


Income from continuing operations: $890,000 + $2,679 = $892,679
Pro forma data, assuming retroactive application of new depreciation method:



2005


2004

Income from continuing operations

$
892,679

$
856,000*

Earnings per common share

$4.46

$4.28


*Depreciation on equipment is the same for both straight line and sum-of-the-years’ digits in 2004 ($100,000).

20–41.

1.
The revision of the estimated life of the building is a change in estimate and should be accounted for prospectively. The change from straight-line to sum-of-the-years’-digits method to depreciate the equipment is a change in accounting principle and requires a cumulative adjusting entry. The change in the percentage of credit sales to expense to bad debts is a change in estimate and is also         accounted for prospectively.

2.
To prepare the journal entry, one must first determine the amount of depreciation that has been recognized and the amount that would have been recognized had the new method been used. In this case, straight-line depreciation resulted in $17,200 being depreciated in years 2002 through 2005, computed as follows:

($48,000 – $5,000)/10 years = $4,300 per year; $4,300 ( 4 years = $17,200

20–41.
(Concluded)


Had the sum-of-the-years’-digits method been used, depreciation expense would have been $26,582 computed as follows:

2002—$43,000 ( 10/55
= 
$
7,818

2003—$43,000 ( 9/55
= 

7,036

2004—$43,000 ( 8/55
= 

6,255

2005—$43,000 ( 7/55
= 

5,473


$
26,582

The journal entry to record the change in accounting principle follows:

Cumulative Effect of Change in Accounting Principle

9,382

Accumulated Depreciation


9,382*

*$26,582 – $17,200 = $9,382

3.
The journal entry to record the depreciation expense on the equipment is

Depreciation Expense—Equipment

4,691*

Accumulated Depreciation—Equipment


4,691

*$43,000 ( 6/55 = $4,691 (rounded)

The journal entry to record the depreciation expense on the building is

Depreciation Expense—Building

3,208*

Accumulated Depreciation—Building


3,208

*Book value on Jan. 1, 2006 = $66,332 [$85,000 – (4 ( $4,667)]

($66,332 – $15,000)/16 years = $3,208 per year (rounded)

4.
To write off the actual bad debts:

Allowance for Bad Debts

5,500

Accounts Receivable


5,500

To record the estimated bad debts for 2006:

Bad Debt Expense


5,000*

Allowance for Bad Debts


5,000

*$250,000 ( 0.02 = $5,000

5.
Because the change in percentage is treated as a change in estimate, there is no cumulative adjustment at the beginning of 2006. However, the balance in the allowance for bad debts account should be analyzed to determine whether net accounts receivable are reported at their net realizable value. In this problem, the balance in the allowance account may be too high because of the overestimate of bad debt expense in past years, suggesting the need for a special reduction in bad debt expense this year to adjust the balance to the correct amount.

20–45.

1.

Year



2001


2002


2003


2004


Net income as previously reported

$
250,000
$
260,000
$310,000
$
330,000

Add increase (decrease) in ending


inventory using FIFO rather than 


LIFO method

$
28,000
$
(2,000)
$
32,000
$
64,000


Subtract increase (decrease) in


beginning inventory using FIFO 


rather than LIFO method


0

28,000

(2,000)

32,000

Gross increase (decrease) in income


using FIFO rather than LIFO method 
$
28,000
$
(30,000)
$
34,000
$
32,000


Less: Income taxes


11,200

(12,000)

13,600

12,800

Increase (decrease) in net income

$
16,800
$
(18,000)
$
20,400
$
19,200

Net income as restated

$
266,800
$
242,000
$
330,400
$
349,200
2.

Overland Inc.



Retained Earnings Statement




For the Year Ended December 31, 2005



Retained earnings, January 1, 2005, as previously reported

$
600,000

Add adjustment for cumulative effect on prior years of applying

retroactively the FIFO method of inventory valuation as opposed to

the LIFO method (less applicable income taxes of $25,600)*


38,400†
Adjusted retained earnings, January 1, 2005

$
638,400

Add net income per income statement



360,000


$
998,400

Deduct dividends declared


200,000
Retained earnings, December 31, 2005

$
798,400

*Applicable income taxes:

2001


$11,200

2002


(12,000)

2003

13,600

2004


12,800



$
25,600

20–45.
(Concluded)

†Total cumulative effect on Retained Earnings at December 31, 2004, of change from LIFO to FIFO method of inventory valuation:

2001


$16,800

2002


(18,000)

2003


20,400

2004


19,200


$
38,400
20–47.

1.
a.
Prepaid Insurance

9,300

Insurance Expense

3,100

Retained Earnings


12,400

To adjust for nonrecognition of prepaid insurance

expense in 2004 ($15,500/5 yrs. = $3,100 ( 4 yrs.).


b.
Allowance for Bad Debts

12,500

General and Administrative Expenses


12,500

To reflect the reduction in losses from bad debts

($2,500,000 ( 0.005 = $12,500).


c.
Retained Earnings

37,750



Cost of Goods Sold

11,750

Inventory



49,500

To adjust for overstatement in both beginning

and ending inventories.


d.
Machinery


75,000



Depreciation Expense

6,250*

Retained Earnings


68,750

Accumulated Depreciation—Machinery


12,500†
To adjust for the expensing of the purchase of

machinery in 2004.

*$75,000 – $12,500 = $62,500/10 years = $6,250

†$6,250 ( 2 years = $12,500

20–47.
(Concluded)

2.

Hiatt Textile Corporation



Schedule of Corrected Net Income



For the Years Ended December 31, 2005 and 2004




2005


2004

Reported net income

$
550,000
$
487,500

Recognition of prepaid insurance


(3,100)

12,400

Change in accounts receivable’s bad debt 

expense rate from 2% to 1½%


12,500

—

Ending inventory overstated:

2004


37,750

(37,750)

2005


(49,500)

Expensing of machine purchase:

Decrease in operating expenses—2004




68,750

Increase in operating expenses—2005


(6,250)


Corrected net income

$
541,400
$
530,900
